7000 GeV pp Z+Jet
';' o I B B 1 T 1 T T ] T 1y
) B ] ) mi=
Q 10° = Trimmed jet mass (anti-k_(0.7), 220<p_<300, |y|<2.5) — %
b I = 2
~ B —™
~ _ ]
| 102 — ] é\)l_
S = =
LoF 0o
| - |
EVE =z
=) ~ -
}% 1E =
Ls) — =
S . L 18
S 10t =
— — = ©
— ke,
2 L _ |z
10°E w cms RS
— —— Pythia 8.308 default =
3 | —— Pythia 8.308 default-noFsr e
10 = —4— Pythia 8.308 default-noRap =9
~ 4
N 15
107* == &
%I | | | | I R I | I E -
2 & =2
%) B Bl
LE) - _
e u -
g i
0.5 — —0.5
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 | " 1 " 1

0 50 100
(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


